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QUESTION 1

What is the intended result of a Distributed Denial of Service (DDOS) attack on a web site?

A. To change the content of the site to prevent it from providing further services

B. To distribute the content of the site to users who are denied access to its service

C. To infect the site to distribute a virus to users, which denies them access to further services
D. To lock users out of the site by exhausting the sites resources

Correct Answer: D

QUESTION 2

Why can virus scanning software not run directly on the hypervisor?

A. because the hypervisor is hidden software

B. because the hypervisor only guests other operating systems

C. because the hypervisor runs on a server

D. because the hypervisor starts up before the virus scanning software

Correct Answer: B

QUESTION 3

What does the abbreviation IPsec mean?
A. Internet Protocol Security

B. Internet Private Section

C. Intelligent Protocol Seconds

D. Second Internet Protocol

Correct Answer: A

QUESTION 4
Why is text messaging in automobiles outlawed in many countries?
A. for financial reasons

B. for safety reasons

EX0-116 Practice Test | EX0-116 Study Guide | EX0-116 Braindumps

2/3


https://www.geekcert.com/ex0-116.html
https://www.geekcert.com/ex0-116.html
https://www.geekcert.com/ex0-116.html

VCE & PDF https://lwww.geekcert.com/ex0-116.html

' 2024 Latest geekcert EX0-116 PDF and VCE dumps Download
: GeekCert.com

C. for security reasons

D. for synchronization reasons

Correct Answer: B

QUESTION 5

What is currently the most common network topology?
A. Hybrid

B. Point-to-point

C. Ring

D. Star

Correct Answer: D
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